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Exam One, MTH 213, Fall 2021

Ayman Badawi
(Stop working at 14:45 pm/ submit your solution by 15:00 pm ) T

QUESTION 1. ( 12 points)(SHOW THE WORK)
(i) Find 6{6475603 (St) }
(ii) Find f{ Uz (t) 6(7t_ 14) Sin (t — 2) }

(it Find £ 1 {ﬁ}
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w rina ({55}

QUESTION 2. (SHOW THE WORK)(6 points)
Solve ®) — 5y + 6y = 6, such that y(0) = ¢/ (0) = 0.

QUESTION 3. (SHOW THE WORK)(6 points) Solve y® + 10y’ + 34y = 0, such that y(0) = 1,3/(0) = 7.
QUESTION 4. (SHOW THE WORK)(6 points) Solve y' — 3y = U,(¢), such that y(0) = 0
QUESTION 5. (SHOW THE WORK)(6 points) Solve y(>) — 4y = 1, such that 5(0) = y'(0) = 0
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